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1 KPUOUUOOKPOOOUO

0=0/0x, L=0+u0 ' +u0 2+, Bi= (L"), (i=1,2,3,...)000. 0000,
00000000 ww=u,us=0v0000,

B =0, By=0*+2u, Bs;=09+3ud+ 3u, + 3.
0000000 Kadomtsev-Petviashvili 00 (KPODO)O0OO:

0 0 0B; 0DB;
9 g, 2 _p|=-9, 95
ot; ot; ot; Ot
Bi=d00,KPO00 wu, = uy, v, = vs, ete. 0000000000000000
go. 0oob, 4 =2 0000000000000O00O00. ODODO,000000000
(t17t27t3) = (l’,y,t) ooo.

oooooo,

0B, OB, 0Bs 0B,
_ 9P 90 902 g 54 3u, 4 30, — 2u,
o, 0t ot oy w0 T oUay oty = St

[Bs, B3] = (3ugy + 60,)0 + Uy — 3(u2)x + 3V

ooOg,KpOOOOOO0OOOOOO:

3uy, = Uy, + 6v,, (1.1)
Btyy + 30y — 2Up = Uy — 3(u?)y + 30.q. (1.2)



2 2. KPOOOO KdvODOGOO

00200000 »O0000D0ODOOOOOO. (1.1)0O0,
6v; = 3uy — 3uyy. (1.3)
(1l2) 0000 000000 2000, 44, 0O0O0DO0OODOOO,
Oty + OVsy = dUpy + e — 6(U?) s + 6Vpss. (1.4)
(13)0 (14)000000,000 u,, 0000000000000,
3y, = Ay — Ugzwe — 6(U?) e
O00D0o00oooooooo,KPpOoooood:
Bty = (4 — Uy — 120ty (1.5)
000000000 (v,y.t,u) 0 (Az,y, Bt,Cu) (ABC £0) 000000,
3ty = 4ABuy — AMiggee — 12A20 (unty),.

ooo,0d0by0d v=-lyOoooOoooobooooboboo,KpO00booooonog
gboboobod. bob,obo0bo KpO0bOOODO:

Uyy = (At — Dligge — CULG), (0, b,c00000000).

2 KPUOUOUOUOKdAVOOOO

000 2reduction 000 L2=B,0000000000,L0 ty (i=1,2,... 00
O0D0000. 00 w,v0y0000000O0O. 0000, (1.1),(1.2)00000000
oogo:

0 = 3uy, + 6v,, (2.1)
— 2y = Uggy — 3(u?)y + Vs (2.2)

00200000 »O00000ODOOOOOO. (21)00,
6v, = —3Uyy.
000 (22)0000 2000000000000,
— 4y = Uy — 6(u?),. (2.3)
O00D0o00ooooooo, KAvoOoooooo:
4up = Ugpy + 120y, (2.4)
000000000 (z,u) O (Az, Bu) (AB#0)000000,
4y = AUy + 12ABuu,.

oob,kKdvOiooobooooboobooooobobo.bob,0ob0oob Kdvod
goboo:

Up = AUpgy + DU, (@, b0000000O0O).
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000 3reduction 000 L =B;,0000000000, L 0O ty; (i =1,2,...) 0
O0000d00. 00 w,v0¢t0000000ODO. O0O0O,KPO0O0O (15) 00000
O0d:

Uy = —Uggzy — 6(u?) -
000000,vw0w+C(COO00)00O0OOOO,
Uy = —Uggas — 12CUz, — 6(u?) e

OO0 BoussinesqUUUODOOO. KPOODOODODOOOOO,y0 vv=1lyOOOOODO
Oooobooobon0,z,« 00000000 DOO0OOO0OODOODODO, Boussinesq U O 0
obobbooboobooboob.obo,bd0bdi BoussinesqUOOOODO:

Uyy = AQUgzy + b(u?) gz + Clzres (a, b cO00D0DOOOOO).

Boussinesq ] 00 00000000000000000000000000 (00000
y0ODODODO0OO a).
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0000 [1],[2) 00000, Boussinesq 0 0000000000

h2

—2 2
Co Wyt = Wyy + (w )xm + waazxm

2
gduouououououn «. oo,y =wddooooog:
h2
ca2vtt:(1+5vx)vm+ﬁvmm. (4.1)
oogoooooog,godoooooodooooooooooooooooon.
00 [2]p1130000000 Zabusky 0000000000000 0OOOOOO.
0000 (tL2)0 (r,§) 000000000000:

& =1 — cot, T= 550025.

00 000 ¢oc0000000000.0000,u=20000,00000 (41)0
+12 +h2
—EU; + =€V, = EUUe + —U
4 DR

000.000,~r<100000,%,000000000000,00,

2

T . — 4.2
Uu +uu§—|— 1261/{55 0 ( )
oood. o000 KJIdvoooooo. ooag,
h2
A*=——  B=34
3e

000,000 (42)0 (r,6,v) 0 (At,z,Bu) 000000,000 (24)00000.
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0000 [1],[2) 00000,00000000000:

d?v,,

e

00000000000 ¢(z)=kle®+ax—1)00000000000.
0000 v,() 0 2=nh (h000000000000)00000 v=ouv(zt 00
0000000000000.0000,

- _¢/(vn - Un—l) + ¢,(Un+1 - Un)' (51)

h? h3 h*
Unt1 = 0(t,x £ h) = v+ hu, + o Ve + avmm + 7 s + ...

obog,boboobooboobooboobooboboboab:

qﬁ(a:):/§<%x2+%a:c3+%lalx4+«~).
000,00 ADODOOO0OO0ODODODOOO, ;000 AOOOOODODODOOOOOOO
00.00000000 k=kd*>,a=-a/2,a;=0a*/600000,¢0 hOOO0O0OO
I A A 0

00000000000000000 (5.1)0000,000 kht~kah* 00000
00000000000,000 k20000,

2

@vtt = Vg T+ Evazxmc + 2ahvazvxx 4

0o00,--- 0k ~aeh 00000000000, 000, &=rkh?/m,e=2o0h 000,
000000000000000 (4.1)00000.
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